Carman’s CPSC 441 Practice Final – Fall 2001

Long Answer Solutions:

1. 

a.) 142.173.189.60 = 10001110.10101101.10111101.00111100

leading bits are 10 = class B

b.) 255.255.240.0 = 11111111.11111111.11111111.11110000.00000000

the first 16 bits are reserved for the network portion so there are 16 

bits left to represent the host and subnet

4 bits are for the subnet so there can be 2^4 –2 subnets

c.) the remaining 12 bits can be host for hosts, so there can be 2^12 –2 hosts per subnet

d.) subnet # 1011 0000 = 176

e.) host # 1101 . 0011 1100 = 13.60

2. 

a.) /etc/hosts

b.) 136.159.7.213

3.

a.) /etc/services

b.) 23

c.) TCP

4.

    192.168.2.7     = 11000000.10101000.00000010.00000111

    CIDR /21        = 11111111.11111111.11111000.00000000

    255.255.255.192 = 11111111.11111111.11111111.11000000

a.) subnets = 2^5 –2

b.) hosts/subnet = 2^6 –2

c.) subnet # 2

d.) host # 7

5.

1 - first use the numbers D just measured

2 – use the distance vectors that came in, but only numbers going to direct neighbors

A – B  9

B – C 16

C – D  2

D – E  7

E – F  7

C – F  4

A – F  8

A – D  5

a.) D (5, 14, 2, 0, 7, 13)

b.) D (A,  A, C, -, E,  A)

Multiple Choice Solutions:

1. b – 1 bit prefix for class A so 9 bits represent the network

2. a

3. d

4. c

5. a

6. b

7. b

8. a

9. c

10. d

11. a

12. b

13. b

14. c

15. a

16. b

17. d

18. b

19. c

20. c

21. d

22. a

23. d

24. c

25. b

26. a

27. a

28. c

29. b

30. c

31. d

32. c

33. b

34. c

35. c

36. b

37. b

38. a

39. c

40. c

41. b

42. d

43. a

44. b

45. c

46. a

47. b

48. c

49. b

50. d

51. e

52. b

53. b

54. a

